T0XOR 7" 01N R,A P2 .70

— IMBW AT RO W99 017 RIAR PPNYT RP90 TIIUION
It is needed; for it would have entered our minds to say, it is
applicable, only when he sent it.

OVERVIEW

The &3 (seemingly') concludes that we derive both 93 12 from the word fow
(731 through Wi 537 *nown and 7w through m2wWX N2 1w1). The word v teaches
us that 23 2 are 217 even if X2°nn X91X. Initially when we derived 1w from 2y
through the P10 of %97 9v2° WD, the X ) asked why it is necessary for the Xn»12
to cite the P10D of H2a7 T2 WRD to prove that w23 refers to w. It is obvious that
Ty refers to Jw for it cannot refer to 7P (which is derived from 13 %) or 211
(which is derived from r%w1). Mmoo asks that this same question can be asked
now; there is no need for Ww2> WKRD!

mooIn asks:
= 999D 79999 NN NAYN SUPIN 99NN ON)
And if you will say; you can ask now, what the X713 asked previously; which is —
- SPNRPI SNNA 91 INY XD Y9N P29 TYNI NINNT N7 N1IYO
The reason we derive J¥ (from 7v21) is because the ‘merciful one’ wrote the 105
of %937 9v2> qwR> (which indicates the connection between v and 7v21), but if it
would not have been so (if there was no such P09 of %737 9v2° WD) then we
would not know jw; but this cannot be, for what else can 7v2) be referring to
(certainly not 237, since it is derived from n7w7). The same question should be asked now; why is
the P09 of 7YY WRD necessary;2 we know that 7w is 21 from the P09 of 02 nPwX N2 . The
P10 of 937 w2 WD is unnecessary!
- 29549 YUY XY XYM
For now we cannot answer as we previously answered. Previously the X3
answered that if it were not for the P105 of w2’ qWwWKRD; we would assume that both 5wy and v
refer to two types of 237; one is 1721 when *m%w 19w and the other is 7¥2) when it is X271 K2R,
However now that we know 1w from 1721 (and not [necessarily] from 2v23), the 105 of w2> WK
is not necessary.

! See, however, 9"np "7 >"w.

? The intention of the question is why it is necessary for the Xin of the Xn™2 to cite this P09 (but not why is it

necessary for the X211 to say it).

* It would be unreasonable to assume that 1y2° TwX) is required to inform us that the 21 of X2 891X, which we

derive from w2, refers to v as well; for since w1 refers to both 31 Jw, there is no reason to assume that v
1
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150N answers:
- *5931 9935 YNNI 19PN NN NTIWI NI NY 1INT NNI23 9INP 5907 19 YU

And one can say; that this is what the Xn>>72 meant; that even if the word r? e
was not written (so we could not derive 7w from n>w1 through n7wR Nnna W), we

would have derived 2 from 2v2° 7WRD and applied it to 2.
$(N,XD T 12772) S‘[\’)) IAPN VI RIN NI NN )

And something similar to this can be found in the beginning of 71 71X pI5.

SUMMARY
According to the X1p0n, the P09 of 72> WXRD is unnecessary for teaching us the
211 of 7Ww. The 8n>>12 required it (only) if 79w would not have been written.

THINKING IT OVER

1. mooIn is assuming that both %37 1w are derived from rw1; and w2 teaches us
the 211 even if X771 X218, How then do we know that 2371 Jw are 211 by X721 X
X17p? The word va1 refers to both %371 W (to teach us X?Mn XOIX), and v2
indicates X17p X*92n by both 9371 1w !°

2. Md0IN answers that when the X192 mentions the 2105 of Iy2° IWKD, it means that
this 7109 is necessary if 721 was not written.” However, how did the X3 ask why
is Y2 7WRD necessary to teach us 7w, for 7v21 cannot mean 237, since 237 is derived
from n%w; but now we are assuming that nw is not written, therefore if not for
qv2° WK, we may think that 2y is referring to 731.%

refers to only one of them.
* See “Thinking it over’ # 2.
3 The (15,75 [M72] Xp™) PI0D states: 99K AN K2 N2 JwI 12 NN K2 7905 NX; it would seem that 703 and 231% have
two separate 77 (w1 for Ao> and n°217n for H2X). The &n>1a derives from a mw 7771 that for either one there are
two 1MR%. The X7n3 states that the w"13 is not necessary, for we read the P09 in this manner: w313 17 00 X2 7905 DX
271 (which makes two R for qod) and 7298 10N RS N°2m2Y w12 (two for 923X). Why then, asks the Xn3 does
the Rn>12 require a Mw 7713?! The X773 there answers that the W"T2 is necessary in case we would not have this p105!
The same applies here. In truth it was not necessary for the ¥n>2 to cite the p109 of 9737 qv2> qwKd, for we derive 1w
from IPWXR NWAna 7w (which connects it to n>wY). The Xn»12 states that if there were no n9w1 and we could not derive
1w from mow, we could nevertheless derive it from 72, through %737 9v2° WK,
® See 0"
7 See footnote # 4.
¥ See "nX.
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